Q v 598—DEHI LA 1 &k KO—2 R -
B mFEICLTHhL &
9SR: T7A3—1 50 b3 ERBEDH)
3
B 418 B HISE(E (M EvkRAr: 17
17 0 0
BAh 17 — +3 STR
72 AT AL A )G | FIEIE | is EER:3 b
BE A 12 — +1 DEX AC 18 +5 +2 | +1
4 2 FEAMAC 11 - - +1
it A7 16 — +3 CON IHYLHAC 15 +5 +0 [ +0
70 T—7 TR DTSR Bl 2D
i1l 10 — +0 INT TaEtE—Y  +5 — 2 +3
2 2 Rictz—)  +1 — 0 +1
Yy A 14 - +2 Wz me—r) +2 — 0 +2
3 2
wH 6 — -2 cna Y WEEES
7 N HIEE BEE |5 zof
o) ERIHE L v 50— i 1 =
HAELRE: 20 ft HAX A WEQEE| {E ISR|EEN| T D
SR - HAEE. FU—7E BN EEEO(EE) +25Ek VIEWE|  +4 — 1 +3
25 60ft BE A —5T &I T ADKEE+1 =RBE[ +2 — +1
HEHEE FU—DOHREBFCER, & 5. w1, GURXAOw—5 +2/8k ERh—F R +4 — 1 +3
WoKYRBE A OB TEEBELL BARY BERIEL. RILAOBENE+4 BB BhEEl 15 — 1 +4
BEETEIAE : E AACHAEIEE  srommeerom mURCGR 285 HE _
1 FO—9v - 94—F 95X
BBISADT—4H WER—FR|F A=z 3R |BE| 5E5EER
Lv|ZZALv hd | BAB| mag || = B % 1F hp +5| 1d10+3 | 20/x3 Ei} 5ft -
141 1[Z7145—1 10] 1 2 2 1
o[ 2 e DA —7\s < ——
o[ 3 WEBR—F X[ T A—Tlovzona] BRI [FE] %EER
o[ 4 +4| 1d8+3 | 20/x3 | B | 5f -
o[ 5
o[ 6 = frEt a2 SAk-/ o< —
o] 7 RER—FR[FA=Tonvrmna] BRI [HTE] EEEK
ol 8 +2| 1d4+3 | 20/x3 | #HI3E | 20ft -
o[ 9 = 2 2
o[10 5
o[11 BEGE) -2 O -2
o[12 ARZ®E) -5 +1
of[13 ABRZEBE) -5 +1
o[14 Ex&n)  +0 +0
o[15 ABSE®ED -5 O +1
o[16 E Y#) -2 -2
o[17 X EEBFE)  +0 +0
0[18 RTHGE) -2 -2
o[19 EEEWE)  +2 +2
0[20 X MXFE) _ +0 +0
E AKX -8 O +3
Cm EHEGFD  +6 @) T+
R—F RERRRR x1 AXZEERAEE) -5 +1
ARRHHT(E) -5 +1
MEGED)  +2 +2
<HEBERGED __ +0 +0
X FB(TFENED)  +0 [@) +0
X FEBCRITTF)E)  +0 +0
X HE(BR)E)  +0 +0
X HIBGR&) (D) 0 0
RE-THE~DEFH X HE(EEE)F) 40 +0
gl O E| O x MBS BRE 10 O +0
hiEgE| O Bz O X JERGHEGE)  +0 +0
& O FHKZE[ O X FFGHE)(ED)  +0 +0
X FERELRXED)  +0 +0
BmaE) +2 +2
G AXFEDBRE@R -5 +1
Com— s —om——
{:ENhp) x HEOCE) -2 O -2
(EBBRRE D IA—T VTRY FoU0E) -2 —2
TEH -8 —2
ARITED -5 +1
XBEEREERAE) -2 -2

NS5 —ER—t

INRAT7A42 5 —RPG




INAT7A 3 —RPG X575 — 1R —k

BELFAE. BHRERE L Bixte D
175gp| &5 & 4ft 2inch iELN)L[o
127.07]gp = 185 (pd) X AE D B
RYEE 47.93|gp 150 7 e £ rh | e
RE | E=pd| B 3T BRI 3T
koo 3 86 20 R T XX
EE3S 4|1 173 20 = P REWL X
5 7[#% 260 20| [EXIE—o ROVEHEFH
RE 9|4 0 10
e B = 1245 [ 11
WESE 3095 2 12
CI 3 13
4 14
DI Bl H e |E= [MSDEE=/E| 5 15
B@)| AT - AL 1 50 30 50 30 6 16
B (8| SR~ D1~ —JLF]| 1 20 15 20 15 7 17
AMUBRBIRT—Y r—T x| 1 30 8 30 8 8 18
HIORB oA —no~v—— 1 12 5 12 5 9 19
ERERF| T\ — 3 1 2 3 6| [BL3CLV B3 X%
Nk
=5
[
i B
[
i F
BB 5D
EEE L
EIEE
5w (EF)
& (EF)
BEY
FE
ERALELZL
EEABELL
EBEAELL
[ EREELL
ERALELZL
BAVE|RE 1 2 2 2 2
ETHES 1 0.1 5 0.1 5
N 5] 0.01 1 0.05 5
F O —J50ft 1 1 10 1 10
X)L 1 2 8 2 8
X hyT 1| 002 1 0.02 1
K& 2 1 4 2 8
REER 5 05 1 25 5
I—)L1A0VHE 2] 02 8 0.4 16
NIV R—F|RZE 1 1 0.5 1 0.5
RITRETER 1 1 1 0




